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1. Select the correct answer from the following :
1x5=5

(a) The total electron count for the
compound FesC(CO);s5 is

(i) 62
(i) 72
(iii) 74
(iv) 86
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{ 2.)

(b) Which of the foll
18-electron rule?

() Fe(CO), (6-C.H

(i) Mn[CO)s(CH:) =y oo
(1) Co2(c:o]8

(iv) Mn(COQ),

owing does not obey

5)

() Sodium npj
nltrppmsside contains species

(i) NO
il () NO*
(iv) NO
(d) M{n(CO)s is isolobg] Wwith 2
) CH ;
(i) CH} {(3 Ty
CH,

(e)ivl10
»+U-phe :
may be a0 froline ir

i used ag on (II) sulphate

(i

(@) Whag do e 2"541'
re i
- Hactmn? san by OXidative addition
ow
(C') terming) o YOU Fde Ct  briq d
What €2(CQ) B =
& m
Ve exampleq, + Custer com ?
_ pounds?

( Continué

(@)

(e)

3. Answer any three questions :

(@)

(b)

()

(@)

(e)

4. Answer any three questions :

(a)

(b)
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Explain why two nitrosyl groups can
substitute three carbonyl group from
metal carbonyl compounds.

Write a note on adsorption indicator.

3x3=9

Give two important reactions of ferrocene
from which the aromatic character of
the molecule can be established. 3

Explain reductive elimination reaction
with suitable example. o

What do you mean by heptacity of a
ligand in organometallic compound?
Give the name and formula of one
monohepto and one pentahepto ligand. 3

the bonding in

Discuss about
arbonyls. 3

mononuclear metal ¢

How will you prepare the following?
1Y2%2=3

() Fe(n®-Csts)z

(i) Zeise’s salt

axd=0

are low nuclearity carbonyl

2 Discuss the structure of one
1+2=3

What
clusters
such cluster.
Predict the structure of the following
clusters in the light of PSEP theory 1Y2x2=3
() Coa (CO)12
(i) [FesCCONl*
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(4)

() What are nitrosyl complexes? Give oné

example of nitrosyl complex formed by
Fe and Co.

2+17
(d) Outline the rules for polyhedral skeletal
electron pair theory.
S. Answer any three Questions : 33
(@) Define accuracy, precision and mean
deviation.
(b) What in

\ dicator wij] you use in the
titration of (j) strong acid with weak base
and (ij) strong acid with strong base?

Give reasons. 1y5+1%
(¢ What are metal jq
two €Xamples witp,
(d) What are determingte and indeterminate
CITors? In g deterrnination, the concen-
tration of iron in 4 given sample was
found ¢, 20-17 PPm. Taking the
‘00 ppm, calculate
€rror and the relative errof
n the deterrnination. 144

n indicators? Giveﬂj
structure, !

€ absolute
aS percent j
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